Frosty the Snowman
These formulae may be useful. 
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1. Estimate 

a. Frosty’s height.

b. the height of Frosty’s hat. 

c. the length of Frosty’s arms.

d. the diameter of Frosty’s head

e. the length of Frosty’s scarf

f. the volume of snow needed to make Frosty’s head. 

g. the diameter of Frosty’s base.

h. the circumference of Frosty’s base.

i. the area of Frosty’s base

j. the volume of snow needed to make Frosty.

The following information may help you to solve the next problems.
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	A snowball with a diameter of 10 cm weighs 160 grams and produces 160 ml of water when it melts.




2. Estimate
a. the weight of Frosty’s head

b. Frosty’s weight

c. the volume of the water that will be produced when Frosty melts.

Frosty’s little brother Snowy is the same shape as Frosty, but only half his height.

3. Estimate
a. the length of Snowy’s arms
b. the length of Snowy’s scarf

c. the circumference of Snowy’s base

d. the area of Snowy’s base

e. the volume of snow needed to make Snowy’s head.

f. the volume of snow needed to make Snowy’.
g. Snowy’s weight.
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